Particles 1
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3 is the one that exists, so it should be marked with 23. “ Oh, there is a cat!”
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7 A U 5 NDZE/E are the one that exist, hence it should be marked with 23. “In Tanaka’s
university, are there American students?”
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You need [NOUN @ location word] structure to indicate the location of /X relative to #L. “
The bread was on top of the desk, right?”
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BE %R 5 is an action, and T is the one to mark the place where an action is pursued. “I
took photos of a dog in the park.”
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Normally, time words are followed by (Z. However, FE H is a relative time word, hence it

should not be followed by IZ. “Around what time did you go to bed yesterday?”
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6 FF# is duration, and quantity expressions like duration are usually not followed by any
particle. “ Yesterday, | studied six hours!”
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“l bought a hat and a pair of shoes at the department store.”
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Please note that & % can describe one’s possession. ‘have/own X’ is X 3% 5. “ 1 have/own a
bicycle (lit. As for me, a bicycle exists).”
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The second subject 7 > X A shares a common attribute “-F[E A T3 with the first,
hence % is the desirable choice. “ Ms. Lee is Chinese. Ms. Chen is Chinese, too.”
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Z M 9 does not share a common attribute with 33 & & \; rather, & M 5 ’s attribute
is contrastive. Thus, [& D 9 should be marked with . “I studied the day before
yesterday. However, | didn’t study yesterday (lit. as for yesterday, | didn’t).”
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You need to use % in addition to T to say ‘at the coffee shop in town, too.’ Please note that
C cannot be replaced by %, hence multiple particle T% should be used. “I often drink
coffee at home. | often drink (coffee) at the coffee shop in town as well.”
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You need to use /X in addition to ~~ to indicate ‘to Osaka’ is a contrasted item to ‘to Kyoto’.
Also note that ~~ cannot be replaced by i, hence multiple particle ~{ should be used. “I
went to Kyoto last Thursday. | didn’t go to Osaka (lit. As for to Osaka, | didn’t).”
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X % D7 T A shares the same attribute with & 82 ™ 2 5 X, hence it should be

marked with . “Today there was a history class. There was a literature class, too.”
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